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Q.No: 1 Which of the following dances is Guru Bipin Singh associated with?
2419259
frafafea & X 5w 7o &1 ey 7o Rt Rig I 82
Kathak
A
DYD
Manipuri
B
afrgd
Odissi
Cc
et
Bharatnatyam
D
WRdTcaH
Correct Ans : B
Subject : General Knowledge
Q.No: 2 In which of the following regions is the musical instrument Dhana Koila found?
2419270
Frafafea # & 5 & 7 o1 Higen arer &= ar S 32
A Jammu and Kashmir
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wwy 3R PR

Tamil Nadu

afirerg

Odisha

aitfE=m

Nagaland

EinIGES

Correct Ans : C

Subject : General Knowledge

Q.No: 3 Ustad Amir Khan (1912-1974) was a renowned -

2419278
TEIE SR H (1912-1974) TF RIS q-
Sitarist
A
IR are®
Flutist
B
Rt AR
Tabla-player
C
GECUCICES
Singer
D
Mas

Correct Ans : D

Subject : General Knowledge
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Q.No: 4  Onasadya is the feast that is organised on the occasion of -

2419280
FUEN T NG, S 3EER W I S S § -
Durga Puja
A
gl g
Baisakhi
B
EGiict
Onam
[
sffor
Holi
D
et

Correct Ans : C

Subject : General Knowledge

Q.No: 5 Who out of the following is the first athlete to win seven gold medals in a single Olympic Game?

2419415
Frafafed # F 311 U Sidfie 9 § 9 W@of uee Siad ar e e 32
Michael Phelps
A
g e
Mark Spitz
B
1 TRt
C Matt Biondi
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Fe f

Suzy Weiner

ol R
Correct Ans : B

Subject : General Knowledge

Q.No: 6  Sergey Nazarovych Bubka is a renowned name in -

2419417
TS AeRIae goT T uRig M € -
Pole vault
A
Ui afee ®
Marathon
B
R §
Swimming
C
et
Javelin-throw
D

yren B |
Correct Ans : A

Subject : General Knowledge

Q.No: 7 Pick the odd-one out -
2419429

oo 1 -

Vandana Katariya

AT Hertear
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Rani Rampal

B

XL T

Shikha Pandey
C

fRrar uid

Nikki Pradhan
D

et wue

Correct Ans : C

Subject : General Knowledge

Q.No: 8  The Himalayan Mountains are an example of which of the following kinds of Mountains?

2419494
formera uda fr 91 § b TR & wddl 31 IR 97
Fold Mountains
A
afer wda
Block Mountains
B
YNy Tdd
Volcanic Mountains
C
waraTHE uda
River Mountains
D

I udd
Correct Ans : A

Subject : General Knowledge

Q.No: 9 Which of the following rocks is formed when the molten magma cools down and becomes solid?
2419501
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Torere gon T 3271 81 iR 3 8 W Ffafad # § & I 9 Il 87

Igneous Rock

A
ST T
Sedimentary Rocks
B
Sfaadt agH
Metamorphic Rocks
C
Fraiid ggrl
Sandstone
D
TS URR

Correct Ans : A

Subject : General Knowledge

Q.No: 10 Which of the following is the retirement age for the Judge of a High Court in India?
2419727

Frofifed # 3 $F-5 YR # 1o I ared F Ay & e Jafahy 3t omg g2

58 Years
A

58 af

60 Years
B

60 T

62 Years
[o

62 ad
D 65 Years
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65 af
Correct Ans : C

Subject : General Knowledge

Q.No: 11 An amendment was made by the Union Government in which of the following years to add Anti-defection law to the Constitution of India?

2419752

HRA & Wfaem § qaaea Rl $FF ) g & I $% WaR gr1 Fmfafea # € frw of & ue Sty foar mn are

1979
A

1979

1985
B

1985

1991
c

1991

1994
D

1994

Correct Ans : B

Subject : General Knowledge

Q.No: 12 The draft for the planned economy, also known as the ‘Bombay Plan’ was proposed in which of the following years?
2419771

aifre srforaw & forg wirer, SR &I diomr & =g A off S e 7, Fefofea & 3 v of # yrarfaa fosan mar are
1941

1941
B 1944
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1944

1948
C

1948

1950
D

1950

Correct Ans : B

Subject : General Knowledge

Q.No: 13 The Constitution forbid employment of children below the age of which of the following in dangerous jobs like factories and mines?

2419776

Wiy Pl # @ 5y of § o0 39 & 99 3 FREF! SR T o TaRAe BT H AR 37§ A B 82

18 years
A

18 T

16 years
B

16 ¢

14 years
c

14 af

12 years
D

129

Correct Ans : C

Subject : General Knowledge

Q.No: 14  Which of the following tribes is not an inhabitant of Madhya Pradesh?
2419975
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Fofafed & F o1 @ e 79 uew 1 Farh 78 82

Jarawas
A

SRdl

Bhil
B

after

Gond
Cc

e

Baiga
D

¥m

Correct Ans : A

Subject : General Knowledge

Q.No: 15 Qut of the four alternatives, choose the one which can be substituted for the given words/sentence.

2417106
The study of human societies and cultures and their development
A Anthropology
B Calligraphy
C Choreography
D Physiotherapy

Correct Ans : A

Subject : General English

Q.No: 16 A sentence with an underlined phrasal verb is given below. Out of the four options, choose the one which can be substituted for the given phrasal Verb.

2417341
You shouldnot bring up the topic of his son’sinter-caste marrage while you have a chat with him.
A mention
B summon
C call forth
D remind

Correct Ans : A
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Subject : General English

Q.No: 17 Out of the given options, choose the most appropriate one to fill in the blank.

2571346
The policeman _______his whistle.
A blew
B have blew
C have blow
D has blow

Correct Ans : A

Subject : General English

Q.No: 18 Out of the given options, choose the most appropriate one to fill in the blank.

2571357
The boy on the burning deck.
A stood
B have stood
C have stand
D has stand

Correct Ans : A

Subject : General English

Q.No: 19 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the one which can be substituted for the given
2571374 phrasal Verb.

Every citizen of a democratic country ought to abide by the laws of the state.
A violate
B break
C note down
D obey
Correct Ans : D

Subject : General English
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Q.No: 20 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the one which can be substituted for the given

2571375 phrasal Verb.

Michael Schumacher aced out all the participants at Grand Prix.

A met

B defeated

C nominated
D called

Correct Ans : B

Subject : General English

Q.No: 21 Out of the given options, choose the most appropriate one to fill in the blank.

2571415
Therobber __ out a knife.
A took
B take
C have take
D have took

Correct Ans : A

Subject : General English

Q.No: 22 Select the most appropriate word to fill in the blank.

2581224 There is hope that better forestry management will help in the_____ of the wild life that is constantly facing threat because of increasing human activities.
A salvation

B guarding

C supervision

D conservation

Correct Ans : D

Subject : General English
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Q.No: 23 DIRECTIONS: In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the
2581305 gentence. Choose the correct alternative. In case no improvement is required, choose “No Improvement” option.

The sailor opened the knot to hoist the flag.

A untied

B open

C untie

D No improvement

Correct Ans : A
Subject : General English

Q.No: 24 DIRECTIONS: In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the
2581319 gentence. Choose the correct alternative. In case no improvement is required, choose “No Improvement” option.

Each of the members has to take part.
A Each of the member
B Every of the member
C Each members
D No Improvement
Correct Ans : D
Subject : General English

Q.No: 25 DIRECTIONS: In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the
2581323 sentence. Choose the correct alternative. In case no improvement is required, choose “No Improvement” option.

Mansi felt drained out as she was working since 7 o’clock in the morning.

A is working

B has been working
c had been working
D No improvement

Correct Ans : C

Subject : General English
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Q.No: 26 DIRECTIONS: In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the
2581325 gantence. Choose the correct alternative. In case no improvement is required, choose “No Improvement” option.

Natalie did have a better job opportunity after she completes her Master’s degree in Finance from Arizona State University.

A will have

B have

C did had

D No improvement

Correct Ans : A
Subject : General English

Q.No: 27 DIRECTION: Read the sentence to find out whether there is any grammatical mistake/error in it. The error, if any, will be in one part of the sentence.
2581355 Mark that part as your answer. If the sentence is correct, mark (4) (no error) as your answer. (Ignore the errors of punctuation, if any).

The price of rice may shoot up to reach a boiling point (1)/in the coming months as the stocks of the staple cereal (2)/are depleting fast owing for deficient
rain and fall in output. (3)/No error (4)

A 1
B 2
[ 3
D 4
Correct Ans : C

Subject : General English

Q.No: 28 DIRECTIONS: Read the sentence to find out whether there is any grammatical mistake/error in it. The error, if any, will be in one part of the sentence.
2581365 Mark that part as your answer. If the sentence is correct, mark (4) (no error) as your answer. (Ignore the errors of punctuation, if any).

The staff was exceptionally (1)/helpful and courteous as well as (2)/warm and pleasantly (3)/No error (4)

A 1
B 2
C 3
D 4
Correct Ans : C
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Subject : General English

Q.No: 29 DIRECTIONS: Read the sentence to find out whether there is any grammatical mistake/error in it. The error, if any, will be in one part of the sentence.
2581378 Mark that part as your answer. If the sentence is correct, mark (4) (no error) as your answer. (Ignore the errors of punctuation, if any).

The man thought that (1)/the company hired the girl (2)/because she was a M. A. in Economics (3)/No error (4)
1

A

B 2
C 3
D 4
Correct Ans : D

Subject : General English

Q.No: 30 Hydrogen releases which gas when burnt?

2420241
RSN WA | B W T Siedl 82
Carbon dioxide
A
PTd STFSHTRITS
Hydrogen gas
B
EEEER
Water-vapour
C
Se-qreq
Carbonic gas
D

EaciiEcakic|

Correct Ans : C

Subject : General Science
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Q.No: 31 An average human being can hear sound of minimum frequency upto:

2420267
T id 79 MRy 3 @ e 9% g S §:
10Hz
A
10Hz
5Hz
B
S5Hz
15 Hz
C
15 Hz
20 Hz
D
20 Hz

Correct Ans : D

Subject : General Science

Q.No: 32 The National Forest Policy of 1988 of India has recommended per cent forest cover for the plains.
2420416

HRA P AP 97 AT (1988) H Rpivy 31 7€ 3 6 Al s § _ Ofowia sia &5 g =1fe |

21
A

21

25
B

25

33
[o

33
D 38
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38

Correct Ans : C

Subject : General Science

Q.No: 33 Fresh-water is NOT found in -

2420438
3 arh, 2 =7 e § -
Lakes
A
g
Polar ice-caps
B
ydta ab-2rdt
Underground water
C
yfirTa
Oceans
D
HENR

Correct Ans : D

Subject : General Science

Q.No: 34 What is the full-form of NTD?

2420549
AL o1 gl 9 /R
Neuro-Transmitted Disease

A
I-grafies fesie

B Neglected Transmitted Disease
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FaARS grafies e
Neglected Tropical Disease
C
TARS i fSoitel
Non-Tramissionable Di
D
A-graftRmTa fSeita

Correct Ans : C

Subject : General Science

Q.No: 35 What is swelling caused by excess fluid trapped in the body's tissues called?

2420569
TR F SHas! § 5 sifafad wa gerd & SR G el gor B 31 Fed 82
Edema
A
wfew
Sclerosis
B
TheRI
Addison’s disease
C
TR I
Diabetes
D
YT

Correct Ans : A

Subject : General Science

Q.No: 36 Which of the following metals would melt if kept on the palm?
2420684
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Fofifed & F SH-30 uig 83 | @ I Rz

Indium
A

§udign

Germanium
B

s foram

Gallium
[

A

Copper
D

PR

Correct Ans : C

Subject : General Science

Q.No: 37 Which of the following has the lowest calorific value?

2420707
Frfafea # ¥ fewe Sufla 79 ¥ad &1 32
Cowdung cake
A
MR FF
Wood
B
el
Coal
C
Praar
Petrol
D
g

Correct Ans : A
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Subject : General Science

Q.No: 38  Which of the followingis NOT a postulate of Dalton’s Atomic Theory?

2420724

fafafa & 9 $1 Sree & Wy Rigia o1t siftraron T8 82

Atoms combine in the ratio of small real numbers to form compounds.
A

TRHTY] BYET AT SO & U # WA IR e 9 E B

All matter is made of very tiny particles called atoms, which participate in chemical reactions.
B

Hft werf TR T 9gd B FUN & 99 B9 §, o YA afafarel § omr 3 )

Atoms are indivisible particles, which cannot be created or destroyed in a chemical reaction.
C

QAT TS BUT 81 €, S Irrafre ufafean & 7 d@ 990 o 9@d ¢ ok 7 8 E g 51 wea g1

The relative number and kinds of atoms are constant in a given compound.
D

st Wi o wRaTueit Y Smifdre Em ok TR fRR B B
Correct Ans : A

Subject : General Science

Q.No: 39  Acetic acid is present in:

2420741
EIE=IIEES # Az 3
Ant’s Sting
A
& 1 5w
Curd Spinach
B
@l uae
C Vinegar
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Rt

Lime water

g urit
Correct Ans : C

Subject : General Science

Q.No: 40 Polio and chicken pox are caused by which of the following microorganism?

2420936
QR ik TRt Fafied A frg gersia & srRo gk 82
Bacteria

A
Sty
Fungi

B
Fas
Protozoa

C
wiereten
Virus

D
farumyy

Correct Ans : D

Subject : General Science

Q.No: 41 which of the following gases is produced by yeast during respiration?
2420942

#E & IR i gR1 Pafifed & § o @ e 3am g @2
A Oxygen
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Micnierd

Nitrogen

EIEAEE

Carbon Dioxide

BTET SFATTAES

Water Vapour

o arq

Correct Ans : C

Subject : General Science

Q.No: 42 The Bile Juice is secreted by -

2420974

fra < forereh g e i @2

Liver

GicH

Pancreas

STHER™

Alimentary Canal

STER 98}
Villi

Zrr (&)

Correct Ans : A

Subject : General Science
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Q.No: 43 Where are the rings of cartilage present?

2420978
IR T Fgl AN 82
Throat
A
T
Ears
B
Cagl
Heart
C
few
Stomach
D
¥

Correct Ans : A

Subject : General Science

Q.No: 44 Which of the following was the world's first electronic programmable computing device?

2411719
Fafered # J S 9 g S g seaeie S S 4R Hufen fSarE ur?
EDVAC
A
EDVAC
ENIAC
B
ENIAC
C PC
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PC

Colossus

Colossus

Correct Ans : D

Subject : General Computer

Q.No: 45 is a computer that offers a computer network service to allow clients to make indirect network connections to other network services.
2411738

TS U1 SR ¢ S HHYLR Aead 9aT UGH B § Al AEH! BT 3 Tead qarsfl W el eash e a1 B Srgaf o 9|

Server
A
TR
Proxy server
B
iRt TR
Client
C
Farge
Back page
D
¥ A9

Correct Ans : B

Subject : General Computer

Q.No: 46 is the ability of a device to "jump" directly to the requested data.
2411745

faret fEarsa ot WY SR ST W "I ST &l TS Bl 8

Sequential access

AHRIT TR (Sequential access)
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Random access

B
Yeu T (Random access)
Quick access

(o
fow Qﬂﬁﬂ (Quick access)
All of the above

D

Iuda it
Correct Ans : B

Subject : General Computer

Q.No: 47 A disk scheduling algorithm in an operating system causes the disk arm to seek back and forth across the disk surface servicing all requests in its path,
2411754 pased on .

TF SR Red # U@ 3 Jegfer welfem W o1uiia 81 €, S 3% omd &1 i3 ag | 3 ok Ui 391 ofR & el €, 1 59 0y & ooft ordell &t &
P B

First come first served

A
Tgd 3l Ug ursi (First come first served)
Shortest Seek Time First

B
e "\‘ﬁﬁ?mtﬁﬁf (Shortest Seek Time First)
Scan

[o
BT (Scan)
Latency time

D

Grnit <CIgH (Latency time)
Correct Ans : C

Subject : General Computer
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Q.No: 48 Imagine that a user has a WORD document open at a workstation and that workstation is unexpectedly disconnected from the school network and from
2411760 the Internet. Where should the user BEST save her work?

Feg BV 5 IuTTrdl & IR THRTE R TF 98 GRS Tl § 3R ahewH Tpal Jead J 3R Iexe I mai ©U 3 e 81 9ar &1 STrTedi & 301 &
Fgl GUR HRAT AMST?
USB key

uwdt geft

P drive

0 g

H drive

T grRa

S drive

T giRd
Correct Ans : C

Subject : General Computer

Q.No: 49 Which of the following refers to the physical arrangement of a network?

2411855
5 7 S1H-11 Fead @1 Hifae Sawa & aid 82
Data flow
A
e
Mode of operation
B
WIS e SifmvE
Topology
C
ELcIE
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Data diagram

a1 e

Correct Ans : C

Subject : General Computer

Q.No: 50 Jack Kilby is inventor of which of the following?

2411887
9o fredt Fafafad # 3 fhee sifdeR® g2
Computer
A
g
Integrated Circuit
B
e wfde
Microprocessor
C
AEHITRER
Transistor
D
giftreR

Correct Ans : B

Subject : General Computer

Q.No: 51 Who among the following is one of the builders of the ENIAC?
2411891

fAuffea # ¥ S ENIAC & faeRl § § w 32

Charles Babbage

I S99

B John P. Eckert
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ot @, 1
Herman Hollerith
C
BRA Ay
James Powers
D

S uraE
Correct Ans : B

Subject : General Computer

Q.No: 52 The term 'A' in VGA ,a system for displaying graphics stands for.

VGA Tithe B TeRid o3 3t v yoneh §, g9 A sieR o wu__ R

2411916
Audio
A
Audio
Array
B
Array
Authentic
C
Authentic
Accessible
D
Accessible

Correct Ans : B

Subject : General Computer

https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

Q.No: 53 A fan is a hardware device that keeps the overall computer or a computer device cool by circulating air to or from the computer. The speed of a fan is

2412175 measured in
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U T TSR (a4 § Sl HURR A1 SO F A1 P UG B SR DU A SO A

P 331 XAl §1 TF U@ F M H At S 2
Revolutions per minute
A
fratege = fime
Rotations per minute
B
e W fre
Revolutions per second
C
fraleq== W JHvs
Rotations per second
D

AT R AHUS

Correct Ans : A

Subject : General Computer

Q.No: 54 Which of the following is NOT true about a web server?

2412176

FrofaRed # ¥ $19-91 fode 39 9R & IR # 9@ T8 82

A web server is a computer that runs websites.
A

¥q R TP S ? o Jewrse ganar

Web server is a computer program that distributes web pages as they are requisitioned.
B

A9 TR TS e MU ¢ St STazadar Usa W 99 Uil &7 favor sear 21

The basic objective of the web server is to store, process and deliver web pages to the users
C

AT R BT Y oy ToY P 99 Uil B wR, N9 ok Rfw s 2
D Providing all of the details that will support a purchase decision
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Gl & Frofa o1 wada B g @il Rz vem s

Correct Ans : D

Subject : General Computer

Q.No: 55 Which among the following modifier keys is used for entering different types of symbols and capitalizing letters?

2412427
fafta TR & Uil 31 7ol BT 3R 16 B 91 7 & fg Fufaf@a § & e wxite 3 (key) BT ST foan S 32
Shift
A
Shift
Fn
B
Fn
Ctrl
c
ctrl
Alt
D
Alt

Correct Ans : A

Subject : General Computer

Q.No: 56 Which of the following is a presentation software of Apple?
2412555

Fofifad ¥ ¥ S1F-1 vora 31 SRR iR 87

Keynote

P

B Works
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aaef
Pages
C
oo
Numbers
D
ECk]

Correct Ans : A

Subject : General Computer

Q.No: 57 Which of the following is an open-source office productivity software suite developed by the Document Foundation?

2412567
e & F F1-91 e st B eR1 Refia e sfiua-arf sty tisfaefad siear 3o 32
StarOffice
A
weréaiiirg
ApacheOffice
B
SUTAHTH
FreeOffice
C
s
LibreOffice
D

fersraitfte

Correct Ans : D

Subject : General Computer

Q.No: 58 Find the wrong term in the series given below:
2417586
NBOY, TEUB, ZHAE, FRGH, LNMK
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I & € oi@en | TIad U 1d Bifa:
NBOY, TEUB, ZHAE, FRGH, LNMK
TEUB

TEUB
ZHAE

ZHAE

FRGH

FRGH
LNMK

LNMK
Correct Ans : C

Subject : General Reasoning

Q.No: 59 Find the wrong term in the series given below:

2417592
XAB, ACE, GEH, RGK, BIN
f= § 718 e 7 Tea 98 91 P
XAB, ACE, GEH, RGK, BIN
ACE
A
ACE
GEH
B
GEH
[of RGK
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RGK
BIN

BIN

Correct Ans : C

Subject : General Reasoning

Q.No: 60 1In the following question, select the odd letters from the given alternatives.

2417679
e wy &, fg e et & & fawm s1erkl &1 997 H)
TUS
A
TUS
XYW
B
XYW
MNL
C
MNL
EFG
D
EFG

Correct Ans : D

Subject : General Reasoning
Q.No: 61 Ifin a certain code language ‘PAPER’ is written as ‘16116518’, then how will ‘BRINIL’ be written in that language?

2417755

T T (YT Bis I F 'PAPER’ Y *16116518’ forat WraT €, @ "BRINIL & 39 HIWT & &9 feran smgam?
A 2189141012

https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 32/110

Page 32



4/23/23, 10:46 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

2189141012
21891410112

21891410112
23189140112

23189140112
2389411021

2389411021
Correct Ans : A

Subject : General Reasoning

Q.No: 62 If G = 14 and PAID = 60, then how will you code 'MARS'?

2417875
% G = 14 3R PAID = 60 §, & 'MARS' &I & Fifsd forar srwm?
84
A
84
114
B
114
102
c
102
96
D
96

Correct Ans : C

Subject : General Reasoning
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Q.No: 63 1In a certain code language, '46- 22- 50- 18' is written as '96-48-104- 40'. What will be the code for '52-76- 31-69' in that code language?

2417880
TE | s W &, '46-22-50-18' H '96-48-104-40 oRaT ST B, I Bl W & '52-76-31-69' B HIS TN GRII?
125- 84- 66- 130
A
125- 84- 66- 130
108- 156- 66- 142
B
108- 156- 66- 142
140- 160- 72- 172
C
140- 160- 72- 172
78- 80- 56- 110
D

78- 80- 56- 110
Correct Ans : B

Subject : General Reasoning

Q.No: 64 In a certain code language, '36-65-44-93' is written as '18-30-16-27'. What will be the code for '67-35-83-29' in that code language?
2417881

& fAfd $IS U1 #, '36-65-44-93' HI '18-30-16-27 & WU & @l oIl 31 S BIS YN & '67-35-83-29' & oY 1 IS grm?
42- 15- 24- 18

A
42- 15- 24- 18
36- 17- 99- 63
B
36- 17-99- 63
C 18- 44- 120- 70
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18- 44- 120- 70
74- 15- 38- 12

74- 15- 38- 12
Correct Ans : A

Subject : General Reasoning

Q.No: 65 If19 @ 1+4=4.5and 26 @ 14 + 3 = 4, then in the expression 15 @ 14 + A = 0.5, what is the
2417960 aiye of 'A'?

A9 @ 1+4=453R26@ 14+3 =48, AIAF 15@ 14+ A =05 F, ‘AFT AT T &7

o
A

0

1
B

1

2
C

2

-2
D

-2

Correct Ans : C

Subject : General Reasoning

Q.No: 66 If66* 11-7=1and 54 * 9—8 =2, then in the expression M * 5 - 10 =4, what is the value of 'M'?

2417961
A 66*11-7=13R54*9-8=2§ AT hAR M*5-10=4F, ‘M’ & A T §?
A 30
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30
20

20
25

25
35

35
Correct Ans : A

Subject : General Reasoning

Q.No: 67 Find the odd number pair from the following options.

2417965
frafaRea famedl § § oRiTd Tom 3t Sigl 91 B |
45-12
A
45-12
51-18
B
51-18
54-21
C
54-21
59 - 27
D
59 - 27

Correct Ans : D

Subject : General Reasoning
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Q.No: 68 If ‘=’ means x’, ‘x’ means “+’,

2417999

following expression?
16 x3+5-2+4

Al ' 3T X F @ IT g I § R @ ' § a9 ida 9g

T AT FIT IMM?
16 x3+5-2+4
7

10

10
19

19

Correct Ans : B

Subject : General Reasoning
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<

+’ means ‘-’ and ‘-’ means ‘=’ ,then what will be the value of the

Q.No: 69 Sonu is taller than Yatendra, Amit is taller than Sonu. Subhash is taller than Amit. Sattu is tallest of all. If they stand according to their height, who will be

2421051

D

exactly in the middle?

T, gdg @ T @, iftvd, T T @1 gy, St @ o 81 g e ot 81 9l A et o & reR O B R, @ e wen F o g

Sonu
Subhash
JU™

Yatendra

Amit
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Correct Ans : D

Subject : General Reasoning

Q.No: 70 Mohan is fourteenth from the right end in a row of 40 boys. What is his positions from the left end?

2421057
40 TSHI B TS Ufad &, T o1 M o/ U dicgdl ol Ulad & 91 T ITB1 H I A 8?2
25th
A 254t
27th
B 27df
24th
¢ 244t
26th
D o
26af

Correct Ans : B

Subject : General Reasoning

Q.No: 71 A, B, C, D and E are 5 schools facing towards north. A is in the middle of E and B. E is to the right of D, If C and D are at two ends. Which schools is on the
2421068 immediate left side of C?

ufg fawmem A, B, C, D 9IR E § @1 5@ SaR @1 iR 21 A, E AR BF e H ¥ E, D & il 3R 81 9 ¢ 3R D 1 3w SR W & & ¢ & Ta afft oiRk o1 &1 fenera

BRI ?
A E
B A
c B
D B

Correct Ans : D

Subject : General Reasoning

Q.No: 72 Simplify-
2421562

a
633%2 % 12964
623 x 363
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WA HIfeTC-

a
6332 x 12964
622 x 362

oI

o I

36

36

6
Correct Ans : C

Subject : General Maths

Q.No: 73 .
2421582 Ifa=89,b=-69,c =8 then the value of 9(a + b)? + 49¢2 — 42(a + b)c is?

I a=89.b=-69,c=8al9(a+b)?+49¢c2 - 42(a + b)c FT A &-

8

A
8
12

B
12

[+ 16
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16
32

32
Correct Ans : C

Subject : General Maths

Q.No: 74 The L.C.M. of two numbers is 495 and their H.C.F. is 5. If the sum of the numbers is 100, then their difference is equal to:
2421605 T GBS F1 A, W. 495 ¥ 3R I H. . 5 ¥ AR F@S 1 A 100 7, @ AT 3R 7

A
S
¢
o

Correct Ans : A

Subject : General Maths

Q.No: 75 The LCM & HCF of two number is 1800 and 120 respectively, if one of the numbers is 480. The other number is:
2421608 3 TS 1T 9. R 1. 9. HH: 1800 3R 120 T, A T WA 480 T ol TR = 7 :

~oae
.
< =
-

Correct Ans : D

Subject : General Maths

Q.No: 76  If n is any natural number, n%(n? - 1) is always divisible by:
2421650 .
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afg n F1% WFHfae S g, @ ni(n? - 1) g faiera gl

A3
B
c B
o 3

Correct Ans : A

Subject : General Maths

24N2°1:67970 In a group of 15 members, 40% ordered tea, 80% ordered samosa and 20% ordered
both. If the price of a tea is Rs. 5 and the price of a samosa is Rs. 8, then find the total
expenditure of all the members.

15 geFat & |WAE & 40%= AT & IR AT, $0% A WA @ 3 20% X et @ e 4w
i T AT H AAT €58 I TR JAN A FAa TS W wedt o g 49 ad |

Rs.144

¥.144
Rs.112

%.112
Rs.126

%.126
Rs.96

%.96
Correct Ans : C

Subject : General Maths
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Q.No: 78  In a maternity centre 5% of all the child birth cases result in twins. What is the
2421708 - . .
approximate percentage of twins out of the total children born?

U STear-aeal dog A, $ol aeal & ool & 7 5% & SJgar aed §, dF $or el 7 Fgar
aTal T AT AT Y (FET )

5%

5%
7.6%

7.6%
9.52%

9.52%
10%

10%
Correct Ans : C
Subject : General Maths

.No: 79
(22421720 Animesh sells an article at a Loss of 12%% . Had he sold it for Rs. 51.80 more, he would

have earned a Profit of 6%. The cost price of the article is?

ST W aR B 125% QI T AT 8, AR 96 $H O HY 51.80 T U Aed W
Y A 3W 6% ST G Gl A &I I Hed AT {?

Rs. 280
A

%. 280
B Rs. 100
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%. 100

Rs. 380
C

%. 380

Rs. 400
D

%. 400

Correct Ans : A

Subject : General Maths

(221';,\‘201:78305 On a certain sum of money, the simple interest for 2 years is Rs. 350 at the rate of 4% per
annum. If it was invested at compound interest at the same rate for the same duration as
before, how much compound interest would be earned?

et T w31 o & forw 4 viowa a1 A9 R § WURY AW 350 U B IHH AR $T G0 AW $ R W TAE 997 F AU T969fs o9 9 R R R Fmem @
e Tehgfis =Tt UTed gi?

Rs. 347

347 ¥@
Rs. 357

357 ¥
Rs. 375

375 ¥ 0

Rs. 321

321 ¥
Correct Ans : B
Subject : General Maths
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24N2°;88214 If a = b¥ = ¢ and b? = ac, then y equals
afga*=b"=¢c AINb?=ac, ATy M| &
Xz/x+z
A
XZ/%+2
xz/2(x-z)
B
Xz/2(x-z)
xz/2(z-x)
C
xz/2(z-x)
2xz/(x+2)
D
2xz/(x+2)

Correct Ans : D

Subject : General Maths

Q.No: 82 Rs. 490 is divided among A, B and C such that A's share is half that of B's and thrice that of C's. What is C's share?
2421840

490 I BT A, B R CH T TR fauiid frar a2 fr A ST R B S RRAJann B iR c F RRA I M T 81 Cc o1 e w @2

Rs. 49

A
49 ¥0
Rs. 147

B
147 ¥03

Cc Rs. 294
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294 ¥W

Rs. 245

245 ¥0
Correct Ans : A

Subject : General Maths

%:“201: 23 A milkman mixed some water with milk to gain 25% by selling the mixture at the cost
945 price. The ratio of water and milk is respectively

wqmﬁmwwmmm%mﬂmm% fore gu # st greit e
I AR g8 &7 SeUTd HAU: §

5:4
A

5:4

4:5
B

4:5

1:5
C

1:5

1:4
D

1:4

Correct Ans : D

Subject : General Maths

Q.No: 84 In a mixture of 60 litres, the ratio of milk and water is 2 : 1. What amount of water must be added to make the ratio of milk and water as 1 : 2?
2421952 60 dfiex & fyyor A gy SR U &7 U 2 ¢ 1 ¥) g SR U T SR 1: 2§ ¥ forg urh @8t fosaet mmm ok fiverh wifewe

A 42 litres
42
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B 56 litres
56 e

c 60 litres
60 e

D 77 litres
77 fiex

Correct Ans : C

Subject : General Maths

;2-1\‘202108652 An zetplane started at 30min later then scheduled time from a place 1500km away from destination to reach the
4 destination at scheduled time pilot has increased the speed of zetplane by 250km/h. Find the speed of zetplane.

T Sreeer 1500 Rl Y gl au e & v e e wea @ 30 e &l & Fear
8 FuiRa @ R wgaar & v Seeem Ao 250 fhefder @ afa aer gar 81 ar
Sieede T aredides |Ter aarsa?

500 km/h

500 feei/aer
750 km/h

750 fendi/eer
250 km/h

250 fadi/er
1000 km/h

1000 Fri/aer
Correct Ans : B

Subject : General Maths

Q.No: 86 : . '
241"4118 Freffea 3§ @ s-a1 e < wf o1 98 IR e 87

A et
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B darar
C quETEHT
D Ysdtmiar

Correct Ans : A

Subject : General Hindi

QNo: 87 pyotafm & Afite s 1 9 SR

2414157

A PHA

B A
C g

D qEID

Correct Ans : B

Subject : General Hindi

Q:No: 88 oy oz g e < o1 vt 9 et e bt SaTeRm €2

2414178
A g foran
B S frar
C femda® foman
D R fomar

Correct Ans : A

Subject : General Hindi

QNo: 89 wyep, dta, T, T TeRdie” FrARIfGA A @ frd R & o 87

2414195
A Micsi b

B YRGS
C farrafeatus
D pfadtys

Correct Ans : B

Subject : General Hindi
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Q.No: 90 profafag & § wreg-gr “amad-omara” % wel ol O T Fa -

2414270
A frafa - emama

B URT - T

c /ST - ATeR W T

D /ST - ATER A ST g

Correct Ans : D

Subject : General Hindi

QNo: 91 s = g FaaferRe & o oo 1 et SaTeRl 87

2414362
A et s
B S o
C SRy e
D WY o

Correct Ans : D

Subject : General Hindi

QNo: 92 orofufed ¥ ogg aoH aTet X3 T < T

2414417
A TG

B YT
c SrgRydr
D T

Correct Ans : C

Subject : General Hindi

QNo: 93 eyt 7 & Fi-wih o, Fvrar o aft T 82

2414492
A 4R wawg
B SIfAET
C SRTYAT

D SHCERT

Correct Ans : A
Subject : General Hindi
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ot o1 g 7
A srroft

B EIGUE]

c STEIoreT

D SRTIRY

Correct Ans : C

Subject : General Hindi

QNo: 95w 3 Hirdl B &1 a7 W e R 7 @ B 2

2414584
A Jut ufEsT
B AT G0 T
o 3yl yasT

D TG AT
Correct Ans : A

Subject : General Hindi

S oy T T i o e U 3 W W - 32
A El

B et

c Bu

) arg

Correct Ans : D

Subject : General Hindi

Q.No: 97 ¥ =
5412731 Frefafad § & oIS I &1 997 P

A ARe sy A Rear #t Hirae @t oAy & T
B I Y fewoht amud ergea 21

c STHT AT FRIG I

D Fraey & <iite Rean €1
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Correct Ans : A

Subject : General Hindi

Q.No: 98 = fu 7w arm & fr F | o g bt v Tt foa T @2
2414780
TR AR TRIG @R 31 : 91 TR fae®

A quifeRm fag
B srquifarm fomg
c e g

D S fir

Correct Ans : C

Subject : General Hindi

Q.No: 99  fyAfdiRed # & are # Ywiferd areraier & ferg =i fag 71U faesedl # & Ifara geray 1 =a Sifon-

2414830
R BTG snaehi T R A I emAfd R e

A B HIF HT1

B S R @

o o= e i freg

D RR = m

Correct Ans : D

Subject : General Hindi

Q-No: 100 gt # & -1 fiwed Al 1 Tahia/ad w0 82

2414850

A Y Y I T, YT T S, A i 16 ¥ 7 G aweSt

B S T I A, YT T SHLY, A Hiet 718 I 7 39 uH S

c S Y I W, Y T SHY, A Hiel a1 T8 7 9w St

D e Y I W, Y T TR, T At arg ¥ A wus fugh

Correct Ans : A

Subject : General Hindi

Q.No: 101 Horizontal axis is also known as
2579137
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sy d_ FETH W S O g

Inner axis

Siafk® et

Outer axis

aredt ofar

Trunion axis

e orer
Line of sight

EiAakicy

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 102 Which of the following surveys is done in relation to the building of roadways, water supply systems, and sewers?

2579138
Fofafad # & $H-1 gdeor g6 Anf % Fmfor, S omgfd yomel ofRk Wk & ey # fan Sar 32
City surveying
A
AT FAGTT
Hydrographic surveying
B
ST GO FAEUT (STES b W&iT)
Earth surveying
C
gadt wderor
None of the given options
D

o g fawedt & @ HIg T
Correct Ans : D
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Subject : Civil Engg.(Diploma)

Q.No: 103 is used to identify key strategic locations.
2579140

1 SUEN T RIS WA B UgaH & R R o 31

Topographic surveying

A

RIATPIAD TA&or

City surveying
B

RUEEL

Military surveying
C

J=a wdafur

Traverse surveying
D

qpHUI(Traverse) qdeor
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 104 what kind of surveying is employed to discover mineral wealth?

2579141
G el $1 G & AU g IR @1 Adarun far o 82
Topographic surveying
A
RIATPHID TI&
City surveying
B
MG TG
C Military surveying
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J=a wderr

Mine surveying

WM/ W15 (Mine) Fd&0T
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 105 The classification of survey on the basis of nature of area is called-

2579143
& B TP & YR TR e & FHfE0r Y 1 Fed § ?
Topographic surveying
A
RIS wdem
Engineering surveying
B
Sefifrafen wdem
Military surveying
C
=1 wdemor
Mine surveying
D

W@/ WgT (Mine) Tderor
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 106 what circumstances can the trapezoidal formula be used in?
2579175

JHETHR G B WA o aRfRuferdt & forar i T 22

A If it composes prism and wedges
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T 78 e ofk e aar @

If it composes triangles and parallelograms
B

afg 75 By o wwiaR Tgufe Ht T Bea @

If it composes prism and parallelograms
C

afe 7% fiew i TR TgUe o Yo SR §

If it composes triangles and wedges
D

T 98 Byw ok 399 T &
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 107 which of the following best describes the premise behind the trapezoidal formula?

2579177
Fafifed § ¥ $H-91 THaEIHR 93 & YR 51 Ja9 33T Jui $dl 82
Mid-area is the mean of the starting area
A
7o & YRS & o1 e ¥
Mid-area is the mean of the end area
B
A 4 3fd & T AT §
Mid-area is the mean
C
g §F WIed
Mid-area is not the mean of the end area
D

T & 3 & BT AT A §
Correct Ans : B

Subject : Civil Engg.(Diploma)
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.No: 108 . . . > . N
2579178 Calculate the volume of the third section with areas of 76.32 m* and 24.56 m®. separated by 4 m.

76.32 @i iex IR 24.56 Tif Hiex & ampa Iat SRR WS F o Mo Y, Y 4 Hiex ¥ aret fasar mn §n

210.11 cu. m
A

210.11 cu. m

201.67 cu. m
B

201.67 cu. m

201.76 cu. m
C

201.76 cu. m

210.76 cu. m
D

210.76 cu. m

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 109 If the areas of the two sides of a prismoid are 211.76 square metres and 134.67 square metres, respectively, and are spaced 2 metres apart, calculate the
2579179 {otal volume using the trapezoidal formula. Think about n=3.

Ife; T fUeriss & il Yoshl 1 d9ha HHT: 211.76 1 HieX @R 134.67 T Hiex 7, @R 2 Hiex @ gfl R €, T TITEISR TF B I ISP $a AT P T0AT SR

n=3
817.53 cu. m

A
817.53 cu. m
845.71 cu. m

B
845.71 cu. m

C 809.71 cu. m
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809.71 cu. m
827.53 cu. m

827.53 cu. m

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 110 Which of the following must be done for obtaining equivalent area?

2579180
FAGe &Ee U $1 & forg Fafafad & & @ faan s =nfee?
Applying correction for bearings
A
drafent & forg gur awy @A
Applying correction for angles
B
FIvit & 1Y UR A HE
Applying correction for curvature
C
a1 & T GUR TR FET
Applying correction for length
D

ars % g YR any Hen
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 111 is the technique of estimating and calculating the fair value of a property such as a building, a factory, or other engineering structures of
2580357 yarious types, buildings, land, etc.

TF YU & IId T FT S 3R TUAT FA P a1 ¢ ONl [ U IR, U HREHI, A1 afd YR 31 o Selifafr k==, Had, yffy, enfe

A Valuation
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Hqegie

Evaluation

e
Forging

Rt

Analysing

fareror

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 112 Which one of the following is not a method of valuation of land?

2580360
iR & § PH-T@ Y $ e B -6 T 82
Comparative Method
A
gares faftr
Extraction Method
B
Frefor fafy
Development Method
C
forera faftr
Agile Method
D

pifelt faftr
Correct Ans : D

Subject : Civil Engg.(Diploma)
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Q.No: 113 What is the value of the separate components of a physical asset when the item itself is no longer usable?

2580361
Mo TURT & S-S Tedh! BT Jed FT § O Mg W 3 ITENT I3 97 -Tg 82
Scrap value
A
@l qea
Market Value
B
IR e
Book Value
C
TS g
Salvage Value
D

QIR § I
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 114 s the estimated cost that a fixed asset can be sold for after factoring in full depreciation.
2580363

I8 AT AT ¥ e R o s wuld &l guf geagr & Shaefal & S1g 391 o gabd gl

Book Value

A
TP
Scrap value

B
SrafE g

C Market Value
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IR I

Salvage Value

SR g™
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 115 In the insurance industry, is the money that can be recovered for a damaged or abandoned property.
2580364
dmedmA, _ ag v N afRa o oRered dufv & R oy faan o w@d g
Book Value
A
qH® g
Scrap value
B
Sfafrg geq
Market Value
C
ANIR Fed
Salvage Value
D

IIR g
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 116 , which is based on what a company anticipates getting in exchange for the asset after the end of its useful life, is the expected book
2580365 yajue of an asset after depreciation is complete.

, SNl 39 910 W 3R B % v Su oA Sunft Sha ot amifEr & & Wult & qgd W 1 U GRA BT SFAH TR, TeIeN W 8 & 618 U Uiy &t

0fEE 9 I B
A Book Value
https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 59/110

Page 59



4/23/23, 10:46 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

&P e
Scrap value
B
SARTE Yed
Market Value
C
VIR e
Salvage Value
D

SR I
Correct Ans : D
Subject : Civil Engg.(Diploma)

Q.No: 117 Which one of the following is not a depreciation method for salvage value?

2580367
Fafifda # ¥ SH-a1 R qea ¥ o qeoe fafy =g 82
Straight Line Depreciation
A
et ¥ gewwT
Double Declining Balance
B
saq fegamshm 3@
Inclining Balance
[
gora Hge
Sum-Of-Years Digits
D

anr-ad F siw
Correct Ans : C
Subject : Civil Engg.(Diploma)
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Q.No: 118 In general, the salvage value is important because it will be the of the asset on a company’s books after depreciation has been fully
2580368 cxpensed.

T AR W, FRAR0 450 Heeaqyl § #i Geuer G oje Q TAIE § 9H & 9% 98 hU Sl qEdl RATR S g
Borrowing Value
A
IUR T
Doubling Value
B
drgdieor g
Multiplying Value
C
AUIE 9419
Carrying Value
D

A B
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 119 The loss in the value of property due to change in design, fashion, the structure of others, change in utility, demand and also specific detrimental

2580377 jinfluences. What is it?
o, HeF, o) 31 SRa & gaad, ITR ¥ Sgard, 7 ok Rk siReRS yykH % SR Uiy % 9ed § geaHl 98 7 8?2
Obsolescence
A
RUEBIREACIE]
Coalescence
B
Gpicau
C Candescence
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Het

Turgescence

g
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 120 of a building or property is the method of calculating the present marketable cost of a building.
2580379
ferelt v o Wy @1 TH WaT B FOAM 90 IR AR Bt 0T A @1 g
Qualification
A
Trgar
Generation
B
it
Evaluation
C
oo
Valuation
D
b ic

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 121 Rent fixation is?
2580383

o frafRor &

A To find the person who is going to buy the property
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I AR BT gt F g st Fuly wies o T &

To find the value of the property

B
Uty T Ged 1 He F g
To legally authorize the property
C
Hufr Y S 0§ aiftrpa I3 & g
To determine the rent of a property
D

et wrufer @ foeman Fruifa o7 & R

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 122 The value of a property depends on its

2580384
S GuRi BT e 39 W PR @ear @
Life
A
Hror
Location
B
W
Legal Control
C
ST iz
All of the given options
D

g g weft fawew

Correct Ans : D

Subject : Civil Engg.(Diploma)
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Q.No: 123 10% scrap is considered for

2580386
Bug
House old
A
PN YA
Construction
B
wgwQt ard
Work
C
Suarht am
Storage
D
Syt ara

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 124 The value of physical objects when its no longer used is termed as.

2580388
fifie aegait BT Hed S 3UST 3d ST TS fopa Sfrlm @ off 3 e ol ©
Item
A
g
Thing
B
a
C Scrap
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BAS
Object

a¥y
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 125 Loss in market value of an asset is known as?

2580390
ot oReiuftr & SoR gea § 21 $ 59 = u & ST S 82
Lose
A
ein|
Incline
B
iG]
Decline
C
qad
Decrease
D
LHE)

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 126 Projected resale value of an asset is known as?
2580391

it ufwinfr & srgma gAfdma Oea & b &9 & 91 @ 82

Scrap value

THY U
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Salvage value

B
forarr gwa
Market value
C
9RIR UG
Book value
D
ESE R

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 127 Value assigned to a property to measure applicable taxes is

2580392
AR HR B R & g fsdt wuftr w1 srarge s man gwa w0 82
Scrap value
A
Eakic]
Assessed value
B
qRIeT g
Market value
C
IR HI9
Book value
D
ERd

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 128 The assessed value will be lower than
2580393
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i Hed A HH gIT?

Scrap value

BT A

Salvage value

forearor gwa

Market value

AR HId

Book value

ol

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 129 Which of the following plays a main role in property insurance?
2580394

Frafafea # ¥ S1F "ufd S (property insurance) H T@1 @1 AT 32

Scrap value

A
by A
Salvage value
B
farearor a9
Market value
C
VR 99
D Assessed value
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HeipT q+
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 130 A fund established by a society's by laws?

2580395
TS FAS! & IUTH gRT R b Fi?
Natural fund
A
wigpfae Ay
Law fund
B
W s
Sinking fund
[
TR HS
Society fund
D

g s
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 131 water evaporation creates a vapour called as __ that is moved through the air.

2580451
S| & iR § _ A i o1 o giar 8 R arg & Ao § wemiaia fan s g1
Smoke
A
gu
B Drizzle
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dar atdt
Cloud
C
qred
Fog
D
Eai

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 132 What is the soil's top called when water started to seep into it?

2580454
e F I ST G B F1 Dl Sl & Sl A ot feg @ 82
Filtration

A
foraie (Filtration)
Infiltration

B
T (Infiltration)
Precipitation

C
auf (Precipitation)
Transpiration

D

QMUARTSI (Transpiration)
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 133 What volume of precipitation is returned to the atmosphere?
2580456

https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 69/110

Page 69



4/23/23, 10:46 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx
auf &1 fbaT 3maas argHSe & TTRT ST STl 82

3

4
A

3

4

2

3
B

2

3

1

3
C

1

3

1

4
D

1

4

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 134 what function does the rainwater that turns into streams as it leaves the earth's surface?

2580457
ol BT o geft Bt g F Fperd & TAURISH & q60 T W 1 B Bl 77
Pit Irrigation

A
T3 @t R
Flower generation

B
Bd DT IdIGT
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L

3
C

L

3

Back water storage
D

i oI BT gbgl BT
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 135 Identify Which of the following is a stone masonry dam?

2580460
Fafafed # 4 o1 9 0@ ToR 3 A W amia sy 32
Hirakud dam
A
RIFs Ty
Nagarjuna Sagar Dam
B
AR AR aiY
Bhakra Nangal dam
C
YREST AT qief
Tehri dam
D
fegdt gty

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 136 Among the following what is the highest stone masonry gravity dam of India
2580461
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Frofafed # ¥ YRA 1 a0 a1 ToR 3 =R aren 9y SH-1 82

Mettur dam
A
Tegr aiy
Nagarjuna Sagar dam
B
AR AR gy
Hirakud dam
Cc
EREEEIL]
Ramganga dam
D

TR |iY
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 137 The highest dam of India is built on which River

2580463
HRA BT I S e 5g T WS R
Jhelum River
A
ERCECH
Musi River
B
T T
Kaveri River
C
o1l T
Bhagirathi River
D

yrfRedt 7
Correct Ans : D
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Subject : Civil Engg.(Diploma)

Q.No: 138 The method used to filter water is known by the name of

2580464
a1 B ftheer H @1 Al 37 e I & S o ©
Sublimation
A
IeduraT
Oxidation
B
sffefieor
Purification
C
piEEau ]
Rainwater harvesting
D

qul wa WIEr
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 139 The method of removing dust and other particles from water using filters is called
2580465

fiheeR &1 I XS o1 W Y& R 37 P Bl gl P fal Hgarw §

Filtration

A
e
Sublimation

B
uduraT

C Rainwater harvesting
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Ui F-HIE

Evaporation

e

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 140 Which of the following methods is the most effective for conserving water?

2580466
e ween 3 forg Frfifed # @ o @ R wed mrd g2
Taking shower with less water
A
wH ¥ fg w0 o o1 g
Using other liquids instead of water for shower
B
WM F T 5@ & TOmT 31 %9 BT SUART T
Not taking shower
C
A TR B
Taking shower with more water
D

ST U A [ BT

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 141 According to Federal plumbing rules, the gallon to use in new toilets is
2580467

Thed Wi Pl % SR, T e § IUEnT a1 51 1) gd B A §
A 1.6
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1.6
3.5

3.5
5.9

5.9
4.3

4.3
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 142 which of the following methods for water conservation is most effective?

2580468
S wRem & e Fofifed § § 1 @ ol e e @2
Increase food waste
A
e @t Fafdt agry
Eat less meat
B
i FH @Y
Always turn on the taps
C
T P FHR A I
Boil the water when there is no need
D

9 SRewd g dl ur ard
Correct Ans : B
Subject : Civil Engg.(Diploma)
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Q.No: 143 Classified the soil sample if it has an Exchangeable sodium percentage (ESP) of 16%, its electrical conductivity is 3.2 Milli-Mohs/cm and a pH of 9.5

2580469
T & T B Fipd B A 390 16% 31 [ Difeam viawa (Suah) €, sue! faggd arasdr 3.2 fred-wgy/3m ok diwapH) 9.5 21
Non-Saline soil

A
3equitg Tgar
Saline-alkaline soil

B
FIUNT- 4T T
Alkaline soil

c
& e
Saline soil

D
ity et

Correct Ans : C
Subject : Civil Engg.(Diploma)

Q.No: 144 What are the classes of salty soil

2580470
Uity 7eT fhaa UHR # gt 8
Saline soil, Saline-alkali soil, Non-saline soil
A
I HaT, Taviia-4ma g, seavia ger
Saline soil, Alkali soil, Non-saline soil
B
Favita g1, &mia e, srerauita et
C Saline soil, Alkali soil, Saline-alkali soil
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wavita 7, &g e, qaviig-emea et

Alkali soil, Non-saline soil, Saline-alkali soil

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 145 Solonetz soil is also termed As

2580471
Heles 7T B 81 S §
Black alkali soil
A
BT &G TaT
White alkali soil
B
i & Tar
Highly saline soil
C
Sreafire el gar
Non-saline soil
D

Sreraufta gar
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 146 What is the restriction on its use If the salt concentration of the irrigation water ranges from 0.5 - 2 g/L?

2580472
IS ITAR R F1 ey ¢ afe RiaE & ot & @90 @t |4m 0.5 - 2 /e g dr
No restriction on its use
A
TS STAN W B wfady Tet
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It should be used with appropriate water management practices

B
BT IUUNT IUGeR Wel Weie SR & 1Y fomar o =nfee
It is not generally advised for use unless consulted with specialists
C
w9 7% faRiusit & ware 76 o 9T ¥ 99 9% 9 AR W SUhRT F 3w 7L & ol &
No dependency on the salt concentration
D

U B Wil R B FeRar T8
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 147 Estimate the leaching requirement when electrical conductivity (EC) value of a saturated extract of soil is 10 m mho/cm at 25% reduction in the yield of
2580473 the crop. The EC of irrigation water is 1.5 m mho/cm

ohfem &} sMaRaesdl BT AHFAF WY 99 Te1 & T 31 $1 faggd Arasmdr () &1 91 wad 31 3ua § 25% H FH R 10 H-728)/3d 31 Riw & ot a1
Hf 1.5 Hex 7RV, §

10%

10%

7.5%

7.5%
6.66%

6.66%
15%

15%
Correct Ans : B

Subject : Civil Engg.(Diploma)
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Q.No: 148 Solonchak soil is also called?

2580477
el geT SR for = & o S § 2
Alkali Soils
A
&R a1
Sodic Soils
B
qits® gar
Saline-alkali soils
C
UG- 4T HaT
Saline soils
D

Ui e
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 149 Among the following salt is also called black alkali?

2580478
Frofifaa # 3 f5a aau &1 HIar &R (black alkali) Ht gl ST 32
Na2,CO;
A
Na;CO3
Na:S0;
B
NaxS0;
C NaCl
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NacCl
NaOH

NaOH
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 150 The zone saturation's upper surface is referred to as

2580481
& I B HUN AT DI FET I §
Aquifer
A
Sred
Aquiclude
B
SaraRie wWR
Water table
[+
ST anferet
Aquifuge
D
Sterafsfe

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 151 In compression members, buckling is developed due to-
2580706

FERE AeE! § THIeT $1 e fHad HRoT ST 3-

Axial Load

saftg WR
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Tensile Load

B
T UR
Dead Load
(o
d UR
Earthquake load
D

YHT UR
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 152 Unwin’s formula is used to determine-

2580707
ST & g 1 T T R & g fasar e 2-
Nominal diameter of rivet
A
frde 31w s
Gross diameter of rivet
B
frde =1 wa a
Thickness of plate
C
W it Aierd
Pitch
D
o

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 153 Nominal Diameter ‘d’ of rivet to be used in plate of thickness 't’ is calculated as-
2580708
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e 't 3 Wie § ITEF S S aTell Fiae & WHM AR \d’ B IT0MET 39 UHR B STt -

d =65Vt
A
d= 6.5Vt
d =625Vt
B
d =625Vt
d= 2.5Vt
C
d= 2.5Vt
d = 6.05vt
D
= 6.05vt

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 154 What is Strut?
2580709

T

A structural member subjected to axial compressive force.

A
stafty wfted aa & orefiF Ue e W
A structural member subjected to axial tensile force.

B
&y T 99 & i 1@ WS aeed
A structural member subjected to axial Shear force.

C
Siefia SuEUY g9 & S Ue WA wew
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A structural member subjected to maximum compressive force.

T WS TR ot siftrpan e aa & sref gt 2
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 155 According to middle-third rule, eccentricity ‘e’ should be (where ‘b’ is width of base-

2580712

7AW a0 F UR Sadsadr ‘e’ G T (et 'B' SR I AT 8)-

<=(b/2)
A

<=(12)

<(b/3)
B

=013)

<(bi6)
c

=(b'6)

=2b73)
D

<=(2b/3)

Correct Ans : C
Subject : Civil Engg.(Diploma)

Q.No: 156 If the beam is to be safe against overturning, eccentricity ‘e’ should be-
2580713

TfE fi7 P Tere A GIAE T 8, @ bl e’ Bl AfT-

A =©72)
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=(72)
=(03)

®3)
(')

<=(bi6)
<=(2b/3)

=(2b/3)

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 157 1In roof trusses, pitch is defined as-

2580714
% o8 ¥ g &l 39 UHR uRkyiia fasar s -
Ratio between span and rise
A
e ok Yo & & &7 srgu
Difference between span and rise
B
fivgfa ok 3o F g s
Span x rise
C
e x g™
None of the given options
D

feg g fawedt & & @i¢ Tt

Correct Ans : A
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Subject : Civil Engg.(Diploma)

Q.No: 158
2580715

In roof trusses, the value of pitch is taken as-

W T (roof trusses) H, g &1 A feram oIrer &:
1/3to1/5

1/391/5
1/2to 1/5

1/291/5
1/3to1/6

1/391/6
1/2to1/3

1/291/3

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 159
2580716

https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

In roof trusses, what is ridge line?

¥ <0 H, Rt oz @ g2

A line drawn by meeting all the apex points of roof truss

w6 ¢ & Wit g figait &t s <t w8 Yar

A line drawn by meeting all the points of equal slope in truss.

oo & W g & At figel ot frarer wid w Yam

A line drawn by meeting all points of same pitch in the truss

Page 85

85/110



4/23/23, 10:46 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

U # Uw ¢t g & aoft fageit &) e T w8 Y

None of the given options

IR F § I T
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 160 Determine the value of rise in a truss of effective span of 9 metres?

2580717
9 Hiex B yurd ol & v o A oM Fuifa H¥?
2.5m

A
2.5 4t
2.25 m

B
2.25
2.75m

C
2.75 W
2.85m

D
2.85

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 161 Diameter of head of rivet is of the diameter of shank of rivet.
2580718

Pias F RR BT A9 Biad & <1l & ™ Bl K
A 1.5

https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 86/110

Page 86



4/23/23, 10:46 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

1.5
1.25

1.25

1.6

1.6
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 162 What is the main difference between Lap joint & Butt joint.

2580719
AU wige 3R e Sige P o TOT 3R 18
Lap joint is subjected to single shear while butt joint is subjected to double shear
A
A Siiée 1 River WfraR & srdi frar oiman @ wafs ge wiide 71 saa R F erefi= far s &
Lap joint is subjected to double shear while butt joint is subjected to single shear
B
AU Wie B sa6 R & S1efi frar wiren § wafe ge wige B Rive 2R ¥ s fran war @
Long rivets are used in lap joints while small rivets are used in butt joints
C
Au Siigt & et Fede o1 IJui fran Smer § Safd ae Sigt & S Rdew o1 Swah fawar siwar &
None of the given options
D

R ¢ et & @ w1 75
Correct Ans : A

Subject : Civil Engg.(Diploma)
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Q.No: 163 As per IS-800, the maximum value of rivet pitch is taken as-

2580720

1S-800 ¥ AR Hiaw g &1 sifsan T fomm S 8-

32t or 300mm whichever is less
A

32t or 300mm it f T &

32t or 200mm whichever is less
B

32t or 200mm St W FA T

32t or 350mm whichever is less
C

32t or 350mm W FA G

None of the given options
D

e g fawedt & & ig T
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 164 Web crippling is mostly seen due to-

2580721
39 RypaiTdl SR U HRU 3 oI §-
Earthquake load
A
Wb HR
Live Load
B
EGRIN
C Wind load
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Tl FT UR

Self weight of member

e T W& UR
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 165 In roof truss, slope is defined as-

2580722
¥ T8 §, 0 31 39 USHR uRHifd s s 2-
Ratio of rise and half span of the truss
A
I3M BT 3R g0 BT 1wl g o1 ergura
Ratio of rise and span of the truss
B
I3 1 SR faeqfa &1 argura
Ratio of rise and pitch of the truss
C
T & Io™ IR fira F1 ergura
Ratio of span and pitch of the truss
D

a9 fagfa ok O 1 ergura
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 166 In roof truss, the value of snow load is taken as-
2580723

w6 79 # feA YR &1 91 feran S 8-
1.5N/m?

1.5N/m?
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2.5N/m?
B

2.5Nim?

3.5N/m?
C

3.5N/m?

4 5N/m?
D

4.5N/m?

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 167 If wind load or earthquake load is taken under consideration while designing, then permissible stresses are to be increased by-

2580724
Ife; fESZA FRA THT Yo YR IT YT HR Y & 3@ STl 8, a1 A wided 31 dgmar T 9ifg-
30%
A
30%
33.33%
B
33.33%
35%
C
35%
40%
D
40%

Correct Ans : B

Subject : Civil Engg.(Diploma)
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Q.No: 168 According to IS-800, In designing of purlin, permissible deflection is-

2580725

1S-800 ¥ SFFHR Ve & e # o fadaor 2-

Span/200
A

Span/200

Span/250
B

Span/250

Span/300
C

Span/300

Span/350
D

Span/350

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 169 According to I1S-800, In designing of purlin, the width of purlin should not be less than-

2580726
1S-800 ¥ SRR MR @1 fSomsfm # ek At Ag & w7 71 g+ anfou-
L/80
A
L/80
L/70
B
L/70
L/60
C
L/60
D L/90
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L/90

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 170 he burning of solid waste is not recommended because

2581030
It requires a lot of manpower.
A
o fi aga siftre sFwfda oY smazaear g 81
It is an costly process.
B
7§ T wET wfvar 21
It causes several environmental issues
[
TE $E TAIaRONT FEI BT SR aaT &
It requires a lot of space
D

9% fq 9ga e ey

Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 171 The volume of voids in a sample of thoroughly saturated soil is equal to

2583837
R wRE & Wqw ) & g ¥ g, RiF e o FiR g g
volume of air
A
a1 &5t A
B volume of water
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it Y AT

the volume of air and volume of water
C

BT B A SR U @ A

the volume of water and volume of solids
D

it B wE iR S B wEn

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 172 1In a partially saturated soil mass, air occupies one-sixth of its volume and Water occupies one- eighth of its volume. What will be the ratio of volume of
2583838 yoids with respect to the total volume?

31 T A T L F gommE 8, a1 oMU SRIGH B ST U8R Tt § 9fR U ofue 31aae & 3Madl 41T R Al B1 T 31gaq ¥ Jaiy H RiFadl & smaa 31 ergua
I E?

0.329

0.329
0.279

0.279
0.432

0.432
0.292

0.292
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 173 The volume of voids Vv is the sum of
2583839
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RF@isremaavy __ F AT RER

the volume of air and volume of water
A

T4 B A SR urel A

the volume of air and volume of solids
B

1Y HT T R SR BT AT

the volume of water and volume of solids
C

urft &t A S S vardf @ W

the volume of water and the weight of water
D

It BT e 3R T BT e
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 174 The water content of a soil sample cannot be determined by method.
2583840

gt & T 9 O ) A fafty grr Freffed T @ o W 21

oven drying

A
S g
alcohol
B
SEPIEIT
calcium carbide
c
Sy wrafss
D pipette
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fade

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 175 A particle-size distribution curve gives us an idea about

2583871
T B3R R a5 g & aR TP [FER &1 §
Type of soil
A
frdt @1 yerR
Properties of soil
B
frdt & qun
All of the mentioned
Cc
wift sfeafem
None of the mentioned
D

Sfcafaa & 4 o1 81
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 176 The ratio of liquid limit minus the natural water content to the plasticity index of the soil is
2583872

e A @1 e, A & @R S A uehe sa i S ey ¥

Consistency index
R .

B Plasticity index

https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx 95/110

Page 95



4/23/23, 10:46 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/g3_key_challenges_adminpanel/Final_Model_Answer.aspx

et 3w

All of the mentioned
C

ot sfeafea

None of the mentioned
D

Sfcafea & § a8 T8t
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 177 The grooving tool used for finding liquid limit is

2583873
R AT F1d B o 1Y Iu fobar S arer e gt g
ASTM tools
A
ASTM SUDROT
Grooving tools
B
Grooving 3UHROT
All of the mentioned
C
it sfeafea
None of the mentioned
D

Ifcafea & ¥ oIS a8
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 178 What is the diameter of the sieve that is used for finding the liquid limit?
2583874
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el AT BT Ul T B R TGN $ S aTel] Dl BT AR 87

275 microns

A
275 WIEHA
700 microns
B
700 AEHH
425 microns
[
425 ARHH
200 microns
D

200 AEHE
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 179 The plastic index is calculated from the relation

2583875
TR GBI P 0T & FoY J P oA T
Ip = “’p—“"}_
A
Ip = W’p»“"L
Ip = Wi-Wp
B
Ip = V\"L-“"p
lp: IL‘IS
C
Ip= IL-IS
D Ip=IL-Is
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Ip=Ip-I3
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 180 Which of the following is not useful for engineer purpose, as proposed by Atterberg?

2583876
Froffea # 3 Fh-a1 el Jexa & fo Swantt 78 3, S % gerent g1 wRafa fepam ma g2
Plastic limit
A
e Bt e
Liquid limit
B
&
Solid limit
C
3N T
Shrinkage limit
D

Heia diar
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 181 Every process involving a decrease in the water content of a saturated soil without replacement of water by air is called

2583921
&1 gR1 U 1 Sedt faT g gt @t o g F sl ) et R arel Ul wihar &1 el ol §
compression

A
e
compressibility

B
widfrsgar
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tension
C
GEIG]
consolidation
D

DT

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 182 If increases in the water content due to an increase in the volume of voids is known as

2583922
afe R & emae § 9fg % SR UF) @) 760 & 97 Ot ¥, i 3 bed &
compression
A
wfte
compressibility
B
weitsTar
swelling
C
G
consolidation
D

TAHT
Correct Ans : C
Subject : Civil Engg.(Diploma)

Q.No: 183 Compression of soil, under short duration of moving or vibratory loads is

2583923
Tl A AR UR B srafiy & wga g @ wde ?
A saturation
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W

compressibility

B
wftsTar
swelling
C
G
compaction
D
GieE)

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 184 The reduction in volume of soil which is due to squeezing out of water from the voids is

2583924
gt ¥ o & Tt o RSkt & o areR Pl 3 o A 2 ?
effective pressure
A
UHTH g
load increment
B
uR g
primary consolidation
[
e T
secondary consolidation
D

Wt aieT

Correct Ans : C

Subject : Civil Engg.(Diploma)
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Q.No: 185 1If a soil is confined in a consolidometer, then at equilibrium stage, the applied pressure is equal to

2583925
Tfe U gt 1 U TRepmId & Wi Ran o €, @ dqer s §, @ g F TR G ¥
zero
A
RS
effective pressure
B
U gaTa
total pressure
C
ENCEIE]
pore pressure
D

TR T gdid
Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 186 The virgin compression curve is the curve between

2583926
aff TdieT o S A FTaw 7
voids ratio and effective pressure
A
T ST 3R GHIE! gaTa
effective pressure and total pressure
B
yurdt Zam9 S o a9
C effective pressure and pore pressure
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U GETd SR AT gard

total pressure and total pressure

P <ad 3R $d card
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 187 The retaining wall moves during the passive state of plastic equilibrium
2583969
wiee dged @1 [Hiera s & gRM R dfa = §
towards the fill
A
R o AR
away from the fill
B
RIAR
does not change its position
C
ot FRufer et arqercht 2
remains in equilibrium
D

g A A
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 188 The failure wedge shows in active state
2583970
Wepa eraed & fawear t=R ) gl §
downward movement
A
i 31 ok Haww
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upward movement

B

W BT AR dgAT

left side movement
C

a1¢ 3 e

right side movement
D

arg SR Haad
Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 189 The coefficient of active earth pressure is than the coefficient of passive pressure.
2583971
i firdt gara o quiies fAf%eg gEre & e 4 Bl
less
A
°Hq
greater
B
it
equal to
C
IR

insufficient data

St Ser
Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 190 The coefficient earth pressure at rest is
2583972
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Afge W gt g1 1 oM g

less than coefficient of active pressure

fpd gare F Uie A H

greater than coefficient of active pressure

wfpy gare & uie J it

equal to coefficient of active pressure

AfPY gard & UIe F TR

one

™
Correct Ans : B
Subject : Civil Engg.(Diploma)

Q.No: 191 The necessary camber is determined by

2584048
A Tl W PR B g
Type of pavement
A
USSP DT UPR
Rainfall
B
qui
Type of pavement and rainfall
C
HEF F1 YHR 3R quf
D Rainfall characteristics
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qui @t fadivang
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 192 The key factor affecting braking effectiveness is

2584049
b e T T A R R e R
Sight distance
A
gl
PIEV theory
B
dremgEd Riia
Friction
[
wrefor
Length of the curve
D

T P dag
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 193 The ideal pavement surface at high speed should have an unevenness index of

2584050
I TR W 3G HeuIY B g 1 SFFAN Yabid g =Rl
1500 mm/km
A
1500 mm/km
B 2500 mm/km
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2500 mm/km

3500 mm/km
C

3500 mm/km

4500 mm/km
D

4500 mm/km

Correct Ans : A
Subject : Civil Engg.(Diploma)

Q.No: 194 According to IRC, bituminous roads in areas with frequent heavy downpours must have a minimum camber of

2584051
IRC & S8R RfFe Toot & Riw 4l avf a1 & & sffawae Gad apal ¢
1%
A
1%
2.5%
B
2.5%
2.7%
C
2.7%
3%
D
3%

Correct Ans : B

Subject : Civil Engg.(Diploma)

Q.No: 195 Which of the following shapes does not offer camber?
2584052
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bl Fofifad 4 ¥ 5w ofeR & uar 8 fban S 82

Straight
A
ter
Parabolic
B
wRaa®
Combination of straight and parabolic
Cc
A iR Raalie o1 He
Circular
D
LiLES

Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 196 The extra width of pavement is provided on

2584053
e F e A W var B i §
Horizontal curve
A
afeet aw
Width of pavement
B
TEF F Ao
Length of pavement
C
TGP P T
Super elevation
D

TR e

Correct Ans : A
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Subject : Civil Engg.(Diploma)

Q.No: 197 On a cross slope of up to 10%, the design speed of NH is

2584054

10% & P 1Y WY W NH B ez fa B

100 kmph
A

100 kmph

80 kmph
B

80 kmph

60 kmph
C

60 kmph

50 kmph
D

50 kmph

Correct Ans : A

Subject : Civil Engg.(Diploma)

Q.No: 198 For road geometrics the most important factor that is required is

2584055
Tgo I & R smawass qed Agaqyl SR g
SSD
A
SSD
osD
B
osD
Cc ISD
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ISD

Speed of vehicle

arg St A
Correct Ans : D

Subject : Civil Engg.(Diploma)

Q.No: 199 The type of traffic In India assumed to design pavements is?

2584057
YRG 7, TG FIOIge ®Xa P T T ST a1 ararand BT TeR 87
Low traffic
A
Y grdrard
Heavy traffic
B
R} g
Mixed traffic flow
C
frf¥a ararara wars
Very low traffic
D

9gd HH Yrard
Correct Ans : C

Subject : Civil Engg.(Diploma)

Q.No: 200 The surface of the pavement should be

2584059
TSP HIUCHBITaG_ gr ey
A Smooth
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Rough

R

Sufficient enough to resist skid

f&ps &1 fRly o33 F fow wafa

Very rough

Tgd G
Correct Ans : C

Subject : Civil Engg.(Diploma)
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